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1. 999 B g9 JUfdb  (positive integer) 'n' foige fow

(iz)n:lzﬁm%

A.8

B. 16

C.12


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
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D. 398 I PIs &l

Answer: D

O drdisw

zZ— 5t

2. AMAY AT 2 = x + iy, ST AHIBIUI

7, fd et

A X-3E IR

B.WRIIWy=5W

C. Heife=g A 374 dTel g W

D. 3RIth # A BIS A8

Answer: D

O i@



https://dl.doubtnut.com/l/_btAadv0MlhtP
https://dl.doubtnut.com/l/_mhgG6AFvHdgX

Vi i\ (v a)
3.€rl%:z=<7+§> +<———> ,dd

A.Re(z) =0
B.Im(z) =0
C.Re(z) > 0,Im(z) > 0

D. Re(z) > 0, Im(z) <0

Answer: B

Qam?,zh?,ﬁ?aﬁ

4. FYfafEd & o1 - 1 83 3 9fe |2 — 4] < |2 — 2| gRT Y&
gPT ?


https://dl.doubtnut.com/l/_mhgG6AFvHdgX
https://dl.doubtnut.com/l/_wKNMTNjCK3Jv
https://dl.doubtnut.com/l/_fViGAz5gmFf5

A.Re(z) > 0
B. Re(z) <0
C.Re(z) > 0

D. 370 & PIs &l

Answer: C

O b

(1—1iz)

5962z = & + iy 3R w = —,
(2 —1)

a9 |w|=1 AR e H ERa

ol g fe

A. z BTeTfTd HP R Va8
B. z AR Y R AT ¢

C.zSPlE AR RAAE


https://dl.doubtnut.com/l/_fViGAz5gmFf5
https://dl.doubtnut.com/l/_o13yby0Jhy2P

D. 3R h H A HIg T8l

Answer: B

O drdisw

6.197g 21, 29, 23, 24 PH I 1 R AMAY dcl H T TATR I &
oS g1, Ife 31k paw Al

Az + 24 =29 + 23

B. 21 + 23 = 29 + 24

C.21+ 29 =23+ 24

D. 398 I PIS T8

Answer: B

O i@



https://dl.doubtnut.com/l/_o13yby0Jhy2P
https://dl.doubtnut.com/l/_IwALpVjjkPyF

7. afE Affe AW a,b,c 3R u,vw & B & ofivf &t wefid et
g UBRe P c= (1 —r)a+rb3Rw = (1 — r)u + rv,

STRT r U AfRI3) %A1 €, dd Gl st

A. AT &% drel 819
B. JHRY (similar) &1
C. gaP™H (congruent) i

D. 3WIth | & Big A8

Answer: B

O drdisw

6
2 2
8. Z (sin%k — icos%k) PIHAE -
k=1


https://dl.doubtnut.com/l/_IwALpVjjkPyF
https://dl.doubtnut.com/l/_W5OGptJPF8XQ
https://dl.doubtnut.com/l/_kbTnTwS5T8d2

Answer: D

O b

9.3fE 2, 2, A 31 (non - zero) ATHY IV T TR ¢ b
|21 + 23| = |21] + |22, 9

BIVIE (21) — DI (2,) BT A EPM


https://dl.doubtnut.com/l/_kbTnTwS5T8d2
https://dl.doubtnut.com/l/_53RHKqZtSW4u

Answer: C

O i@

10. x & 59 AF & fov Ay I=U sinz + icos 2z 3R
cos x — i Ueb - QN bl TYIH (conjugate) Bt ?

Cw— 1
. = ’I’L—|-§ ™

D. x P fopaft oft a9 & foru A}

Answer: D


https://dl.doubtnut.com/l/_53RHKqZtSW4u
https://dl.doubtnut.com/l/_IJRYwIImhTeC

O i

NARGw(# 1) SPEHITHALIN (14 w)’ = A+ Bwdl, @
A 3R B BHZE &1

A.0;]

B. 1,1

C.10

D.—1,1

Answer: B

O iz



https://dl.doubtnut.com/l/_IJRYwIImhTeC
https://dl.doubtnut.com/l/_kT7JWGHWezTw

12. 91 2 31R w Gl 37 A TR 9 UBR & 16 |2| = |w| 3R

BIUND () + PIUND (w) = 7, dd z SRTSR 81T |

Answer: D

O dfdisw @

B.AATzI W IAY TR ST IBRE B 2| < 1, |w| < 1a

|z —iw| = |z —iw| = 2,Ad z BIAA &


https://dl.doubtnut.com/l/_fQsrtBURK7tS
https://dl.doubtnut.com/l/_I8FBluZbHnW0

A 13T

B.idl-i

c.1ar-i

D.idr-1

Answer: C

O drdisw

14. 59 QUi n; d ny & foll Halh

T+ +(1+3)"+ 1)+ 1+,

i = \/— L, 1 AF dRAfdP a1, A 3R Bae Afe
Ang =mng+1

B.ni =n9 —1


https://dl.doubtnut.com/l/_I8FBluZbHnW0
https://dl.doubtnut.com/l/_CSbHXMiwtncq

C. ny = Ny

D.ny > 0,n9 >0

Answer: D

O iz

15. (& w SHTE BT U Bled-eb T97c1 &, Al (1 + w — w2)7 &I A
Rl

A. 128w

B. — 128w

C. 128w

D. — 1287

Answer: D


https://dl.doubtnut.com/l/_CSbHXMiwtncq
https://dl.doubtnut.com/l/_mnpA4E8BGByX

O iz

13
16.) (" +4"""), 5@ i = /— 1, BT AE &

n=1

D.O

Answer: B

O ddism

6 —3 1
1794 3% —1| =z + iy dd
20 3 g


https://dl.doubtnut.com/l/_mnpA4E8BGByX
https://dl.doubtnut.com/l/_R35YJFVi1TXh
https://dl.doubtnut.com/l/_gvocsBkDxzxq

A x=3,y=1

B.x=1y=1

Cx=0,y=3

D.x=0,y=0

Answer: D

O b



https://dl.doubtnut.com/l/_gvocsBkDxzxq
https://dl.doubtnut.com/l/_qaKv1nWQoc8U

D. —i+/3

Answer: C

O drd s

C.—m/2

D.7/2

Answer: A

O ddism



https://dl.doubtnut.com/l/_qaKv1nWQoc8U
https://dl.doubtnut.com/l/_6FOhKupFpP9W

20. AR 21,2y 3R 2z; AMMY TN 59 wHR & &5
1 1 1

|z1] = |22 = |2z3] = | — + — + —| =179 |21 + 29 + 23]
21 ) Z3
g
A. 1P TR
B. 19 Blel

C.3 398l

D.3 & RN

Answer: A

O drdisw @

21.HM 2; d 2, SBT5 b n d d &, Sl Jelfdg W JHDIUT 94T1d &,
dd n A9 YR &1 g1 918U |


https://dl.doubtnut.com/l/_TeCeirZYrXfj
https://dl.doubtnut.com/l/_36QrZJS5mUHj

A4k +1

B.4k + 2

C.4k + 3

D. 4k

Answer: D

O b

21 — %3 ].—Z\/?)

22, AfAY TS 21, 25 3R 23 HJE Bl 2 — 5
29 — 23

ST 3% st & o & o7t 1o

A. I 8% aTell &M
B. TSIV FHIGSTE &PT

C. SAHETg &P


https://dl.doubtnut.com/l/_36QrZJS5mUHj
https://dl.doubtnut.com/l/_dsIrQzmH3Wad

D. 31f&Ie 10T HAfGETE EPm

Answer: C

O drdisw

1 1 1

1 3
23. qFT w = —§+z‘%,a‘rw@$ 1 —1—w? 2| @
1 W w

qH g

A. 3w
B. 3w(w — 1)
C. 3w?

D. 3w(1l — w)

Answer: B



https://dl.doubtnut.com/l/_dsIrQzmH3Wad
https://dl.doubtnut.com/l/_okZTl8qxlPRn

| @ difsd 3Tv &F

24. '\mﬁ '@I‘Iﬁ[%[ '@l@TSﬁ 21y 292, Sﬁ |Zl| =12 3ﬁ_\’-
|Z2—3—4’l| :5aﬁﬂﬂgﬁ?ﬁé,$m|zl—z2\${%ﬁﬂ
&

A.O

B.2

C.7

D. 17

Answer: B

O drd s



https://dl.doubtnut.com/l/_okZTl8qxlPRn
https://dl.doubtnut.com/l/_jJ6KflT7hInp

z—1

25.3f¢ |2| = 13w = p (el z # — 1),dd Re (W) &
A.O
1
B. 5
|z + 1
1 ‘ 1
RE R I PEETE
2
D. \/— 5
|z + 1
Answer: A
O R w2

26, A w(#£1) TPE B T A & 3R

(1+?)" = (1+ )", T n & TG SleT A 8

A2


https://dl.doubtnut.com/l/_RNS93427KtmB
https://dl.doubtnut.com/l/_JklKeosoBxNi

B.3

C.5

D.6

Answer: B

O dfdisw @

27.3f& w SHTE BT BHEA 81 @i 1P SRR &, 09 |a + bw + |

&1 JAdH A (3T&1 a, b, ¢ YOITe & afeed Joft sRTaR &) &:
A /3
B.1/2

C.1

D.O



https://dl.doubtnut.com/l/_JklKeosoBxNi
https://dl.doubtnut.com/l/_IflCge63JA51

Answer: C

O drdism

28. SRR a, STal

PZ(-].,O),Q: (_1+\/§7\/§)aR: (_1+\/§, _\/i)
aATs = (1,0) & A9 & T fpuds gRT uefold o gbd & ?

Q//



https://dl.doubtnut.com/l/_IflCge63JA51
https://dl.doubtnut.com/l/_kIyEXtiCxT2T

Alz+1] > 2, | ®IUib (2 + 1) |
B.|z+ 1| < 2, |0l (2 + 1) |
Clz+1] > 2,|PUNd (2 + 1) |

D.|z— 1] < 2,|®IUlib (2 + 1) |

Answer: A

<

V
NN R ST NE

O b

29.aﬁw:a+iﬁaﬁﬂ7é0aanz7é1%'aan(

QUicE IRfdeh & e z b HHI ol T &

Alzl =1,z #2
B.l2| =1,z #1

C.z=z

w—wez

1—z2

)



https://dl.doubtnut.com/l/_kIyEXtiCxT2T
https://dl.doubtnut.com/l/_kMUjNjeZb9lh

D. 370 & PIs &l

Answer: B

O drdisw

30. U Afth, Jelfag A 3TRYd (N 45° E) f&em & 3 g1 Fl gt dsb
TeIdT &1 daagTd 3% 9f3| f&em (N 45°w) 7 4 P18 &l g1 db
IR g P IR Ugadl 81 31Pive Iwad § fag P 6 Rafa @

A 3e™/t 4 4

B. (3 — 44)e’™/*

C.(4 + 3i)e™/*

D. (3 + 44)e"™/*

Answer: D


https://dl.doubtnut.com/l/_kMUjNjeZb9lh
https://dl.doubtnut.com/l/_GAi1sOoposnf

O dfdisw @

3.0 || = 13z # £ 179 -  _ yufinfafd

— 2

A ¥ R, 37 erfag & & IR &
B.|z2| = V2WR
Cx-38WR

D.y-3gd W

Answer: D

O drdisw @

32.UF BUT P, forg 29 = 1 + 20 & URY &l &, SRl 4 = /— 1

JdgH Ig ol fag A &f4sT & 5 IS ¥ 1T & a1 ol fag A



https://dl.doubtnut.com/l/_GAi1sOoposnf
https://dl.doubtnut.com/l/_s0HEF2Ivt2EY
https://dl.doubtnut.com/l/_OX1IuRgo997q

Feafer 3 gb1S B gl R g 2, W UgIal &1 316 BUI, 2; A Al
i + j Y feen & /2 SHTE ST € YT a9 A Ueh g [Tl g o
ﬁ%%,wammﬁ%snﬁ%aﬂw@qqm%ﬁvwﬁz@q?

qﬁﬂmé,aaﬁg@%
A6+ T
B.—7+ 62
C.7+ 62

D.—6+ 72

Answer: D

(o Kilcikni

15
33.HMI 2 = cos @ + isinfg,dH = 2° W Z Im(zzm_l) &

m=1

SR


https://dl.doubtnut.com/l/_OX1IuRgo997q
https://dl.doubtnut.com/l/_qbK4qhuQGDbp

sin2°

3sin2°

2sin 2°

4sin 2°

Answer: D

O b

34.Wz=m+iy%ﬁﬁﬂ@%m%ﬁlﬂﬁxangl
39 3R &1 &F%d o o fomg Ifawor 22° + 228 = 350 &
g, e e

A. 48 T SIS

B. 32 9 SIS


https://dl.doubtnut.com/l/_qbK4qhuQGDbp
https://dl.doubtnut.com/l/_VcGadgVJwrjM

C. 40 3°f SIS
D. 80 &1 SIS

Answer: A

O i@

35. 9MT 2z Ub A9 AT 8, e reufid umT =T 8 ¢ 31
a =22+ 2+ 13Naf®H & | a9 a8 94, 31 o T8 A BT Y R

>
|
[

Bw Nk w| R

Answer: D


https://dl.doubtnut.com/l/_VcGadgVJwrjM
https://dl.doubtnut.com/l/_6rLhYPY9W71A

O drdisw @

36. Ife 2 T V) AMY T & fS-AHT ATUD U ShIS & dT HIvNih

eéaﬁw(ii;)aﬂw%

D.m — 60

Answer: C

O dfdisw @



https://dl.doubtnut.com/l/_6rLhYPY9W71A
https://dl.doubtnut.com/l/_YZ8jW10lQjUG

: : 1
37.nm%¢rlﬁq3rm@aaangwwaﬁ
(z —20)* + (y—50)° =1’ AT
(z—z0)* + (y—w)’ =4’ R @A & AR 25 = 7 + iy

IR 2| 2| = 7?2 + 2D AIEIRAT S || =

@ >
cwl*—‘%| l\DI'—‘<||
p— =
-~ [\V)

N

o

Answer: C

O dfdisw @



https://dl.doubtnut.com/l/_6WjhuA3mwi7a

5
38. A w = \/_;_Z daTP={w":n=123,..} 39

1
31faih le{zeC:Rez>§} ar

1 . . :
H, = {z € C: Rez < 5} , 5T8l C AfAy Il &1 Iy &l
& 2, € PN Hy, 2y € PN H, d¥l O Jeifa=g Y& &l &, dd

421022=

Answer: D

O bz



https://dl.doubtnut.com/l/_65MMbZbyQnF6

39, I z U Ol Ay dm & f5 2| > 2 8, z—|—%‘$[

AdH A &

A.gﬁﬁwa?ﬂ%

B. 37=RTet (1, 2) H A &

c.gasama?%

D.%'\ﬁf‘erde qsléqergg??rw:r%

Answer: B

O dfdisw @

40. Uh A TTAT z DI Uebich AU bedl, TG 2| = 1 &1l AMT 2,

L e 21 — 2z . .
qAT 2, AR IS ST YBR 2 Y — 2 Uehich HITP 2 T 2,

2 — 2129

Upid AT 8| dd g z; f&d grm


https://dl.doubtnut.com/l/_qTlJ7YGQYyiW
https://dl.doubtnut.com/l/_OJzEWPb7xk1j

A. X - 378 T IHAR I ¥ R
B. Y - 3781 ¥ THTR 9T vl IR
CHRHETQ2)PIAR

D. B3 (v/2) PIAWR

Answer: C

O drdisw

2 + 3isind

41.0 &1 98 U O o falt ———
1 — 2¢sinf

o3 w3

B.

C. sin1<
D. sinl(

&"“ *';‘§|
~


https://dl.doubtnut.com/l/_OJzEWPb7xk1j
https://dl.doubtnut.com/l/_U0RFEzxqow6g

Answer: D

O b

1.3 2, = a + b AAT 25 = ¢ + id AWMLY IV s YHR ¢
21| = |25 =1 @AT Re(z1Zy) =0, dd WA@Y JE3Al
w; = a + icAUTwy = b + id 1 PH Y F F fod FJE HM

A |lw| =1

B. |wy| =1

C. Re(wyws) =0

D. 598 I PIS el


https://dl.doubtnut.com/l/_U0RFEzxqow6g
https://dl.doubtnut.com/l/_t3ZjWxieGSXr

Answer: A::B::C

O s

2. OFT IR AT 2y 3R 2, 39 TBR & fF 2, # 2, 3R
21| = |20| & | 3R 2, P TRARD UPT eATHD & 3R 2o BT

z z
PRI T O 2, At 22 3
21 — 29

A. =

B. aRdfdep 3R YATHSG

C. dRAfd® 31R BUNTHB

D. G PIcdfAed

Answer: D

O drdr s



https://dl.doubtnut.com/l/_t3ZjWxieGSXr
https://dl.doubtnut.com/l/_CE7X0HF4CCuS

3. A1 {6 2, AT 2, o fA=F TEAL TV & derr foedt arafde dw
tSE0<t < 1, BV 2z = (1 —t)z1 + t2o 81 I T IR
AP T w & AU Arg(w), w b THE BivTich HI geifdr & af

A.|Z—Zl| + ‘Z—Z2| = ‘Zl —22|

B.arg(z — z1) = arg(z; — 21)

z2—21 zZ— 2z
. _ _ =0
22 — 21 22 — 21

D. A::B::C

Answer: D

O bz



https://dl.doubtnut.com/l/_CE7X0HF4CCuS
https://dl.doubtnut.com/l/_mANa031DzNk6

4. 9M % a,b, c R3R o>+ £0 8 9A &fifSe 6 s =

{zGC:z: tGR,t#O},EIE?Ii:\/—_l%IIIﬁz

a + ibt’
=x+iy3R z € S&,dd(x,y)

A.WQ?[W%@I’@I@@RIT% 3R g fag (%,0) g 39
a>0,b#0

B.Y-3IWR&Ida=0,b+#0

C.X-31WRE,Ta #0,b=0

D. A::B::C

Answer: D

O dfdisw @

e vt 1 o BT


https://dl.doubtnut.com/l/_Zw19mev0Mw9L

sin(%) + cos(£) — itana]
1+ 2sin( )]

IRAfAS €, dl x B Gt 19 AT &1 =y

1. If¢ Sslb  (expression)

Az =2nm+ 20, a = tan 'k, 3@k € (1, 2)
B.2z = 2nmw + 20, = tan ' k, ST k € (1, 3)
Cx=2nm+aa=tan "k3BEkc(1,2)

D.z = 2nm + a,a = tan 'k, SRk € (1, 3)

Answer: A

O s @

2. Iy I3 2 T 2o dAT dRdAfdDd GABT a d b & falv

laz; — bz2|2 + bz + az2\2 =

| & @ o |


https://dl.doubtnut.com/l/_GWgn7pYO96Nn
https://dl.doubtnut.com/l/_K1HzcmDClnwH

| @ AllsA TR

3. I IRAfdS AW a dAT b,0 dYT 1 P HeA 9 YR ¢ b fdg
21 =a+ 14,20 =1+ bi AU z; = 0 AHSTE AYS §1d & 1 a

qAT b SRR gt

O drdisw

4. 399431 (rhombus) ABCD & faduf AC 31k BD U - @R &l famg
M R Hled & 3R BD = 2AC B ¥ avd & | IR /g D 3k m
A2 TS W3 1 + 4 3R 2 — ¢ P Uefid Fd &, O A I
Rercl| A DI Fefld B |

O drdisw @



https://dl.doubtnut.com/l/_K1HzcmDClnwH
https://dl.doubtnut.com/l/_fCIDFmP1uoW2
https://dl.doubtnut.com/l/_l1piDquQw64Q

5. H0MT 21, 20 9 23 T |2 = 2 & I3 AT A0a1g BFYsT & M
(vertex) 8 | TG 2y = 1 +14+/3, T 25 =

O Az @

6. In a survey of 60 people, it was found that 25 people read
newspaper H. 26 read newspaper T, 26 read newspaper 1, 9
read both H and I. 11 read both H and T, 8 read both T and I, 3
read all three newspapers. Find: (i) the number of people who
read at least one of the newspapers. (ii) the number of people

who read exactly one newspaper

O drdisw



https://dl.doubtnut.com/l/_0U9J8eSTuc0w
https://dl.doubtnut.com/l/_jlgoLAVczpig

1. I FBH 2) = 21 + dy; 3R 29 = z9 + iyy P A0 &H
<1 ﬂzQﬁ@ﬁg,zﬂﬁxl S 3323'ﬁ_\’-y1 S y2,ﬁaﬂ9ﬂﬂ'ﬁif8[@'@5ﬂ3-ﬁ
z, A% v 1 N 2 fean &, gn

]__
zmoﬁﬁm
1+ 2

O s @

2. I AFAY T 21, 2, T 23 U AHTG st & < Y el
W%HWP«’H = ‘22| = ‘Z3|,(_‘-n-251 + 29 + 23 = Oml

O bz

3. 314 Eabls & TAHl Bl 37108 & (argand diagram) gRT Yafid
35T 71T &, Al d Ueb HHeTg YT & SN a1 & |

O drdisw @



https://dl.doubtnut.com/l/_3Pih4cELDlnr
https://dl.doubtnut.com/l/_jfhXefRqe0I8
https://dl.doubtnut.com/l/_cLCogGmtgvdn

1. WHT A, B, C Iy Wmsfi & &9 9=y € st Ay yer @
g 21

A={z:Imz> 1}

B=1{z|z—2—i =3}

C = {z:Re(1 —i)2) = +/2}
IT=I A N B N C & 3/aga) 6 e &
A.0
B. 1
C.2

D. A4

Answer: B

||>éﬁﬁawﬁ§


https://dl.doubtnut.com/l/_AxqJq7hGELYQ

2. 9T A, B, C Iy I3l & 9 agea & s Ay usr 3
g &1

A={z:Imz > 1}

B={z:]z—2—i| =3}

C = {z: Re(1 — i)z) = v/2}

a2, ANBNC @& @ U fog 8 @9
z+1—i’+|z—5—di°Fardfa@a’
A.25d 29 % AeY

B.30d 34 $ HeY

C.359 39 ® HeY

D.40d 44 & HeY

Answer: C



https://dl.doubtnut.com/l/_AxqJq7hGELYQ
https://dl.doubtnut.com/l/_3TRtfqYdg1tj

|°aﬁ1%2fr3ﬁ?aﬁ

3. 97F1 AB,C P w3l & i = & S Ay bR & aRfd
g

A={z:Imz > 1}

B={z:|z—2—i =3}

C = {z:Re((1 —1i)z) = v/2}

AHT 2, ANBNC H &8 U fdg & AU w, |w — 2 — 3| < 3 &
SidE PR dTeTl Plg dlell Blg f6g 81 9 [2| — |w| + 3 FF & &
ERGE

A. —6d3 & H
B.—3d6®H

C.—6d3F A

D. —3d 9% A


https://dl.doubtnut.com/l/_3TRtfqYdg1tj
https://dl.doubtnut.com/l/_HS90cbQRBNSp

Answer: D

O b

4. 9141 6 a, b 3R ¢ Wt A9 TRafds I & i

19 7
@ b c][S 2 7} =0 0 0]..E)

7T 37
& IS B g
AT P w, Tfiaw0r 22 — 1 = 0 &1 & §, &l Im(w) > 0 813
a=2 3R I T b 3R ¢ FHHOT (E B AJE ==l €
3 1

— + = + J$T14T:[%-(|) — 2 (i) 2 (iii) 3 (iv) — 3

A —2
B.2

C.3


https://dl.doubtnut.com/l/_HS90cbQRBNSp
https://dl.doubtnut.com/l/_YzGUdCJYvpco

Answer: A

O i@

5. HIAT ﬁs SleﬂSzﬂSg, 3"%\:[

—1 3t
z +\/_z>0}
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